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e Please check that this question paper contains 11 printed pages and
2 pages of maps.
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written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Wﬁﬁw:

(i)  FFI B T GEIT26 8 |

(i) @ geT e &

(iii) 9% J99 & 3b 3HF GHT 3iHd & |

(iv) ¥97 &1 1-10 % 3T Tg-IR qct 397 8 | I8 37 #711 3% & | 577 @
Jcdeh Y97 7 I 20 ieg] & 37fer &7 787 511 T80 |

(v) ¥ G 11-20 7% TY-IR qI7 Jo7 8 | F9F Jo7 F 3 3F 3 | 599 & T
9T Gog-STERT 8 | $98 @ JAF F97 H IR 80 5G] & 371 FHT T8 FT
15T |

(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y4 J97 & 5 3H 5 | 570 @
Jedh J97 H7 I 150 Feq] & 37fer &7 787 517 =159 |

(vii) Y97 GEIT 26 FHEEA W 15T TT 9i7ifcie Femn &1 ggE 3N [T o oa
THIHT HH G Galea & |

(viii) TAR K YR & 17U 77 IGT-FrfE] B 377+ FTH-Ji&as] & @i 8 7a97
T BTy |

(ix) @-FEEF 917 & forg @ia a7 et & 317 #1 gt 3 s 2

General Instructions :

(1) There are 26 questions in all.

(it)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv)  Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v) Questions No. 11 — 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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10.

11.

64/2/1

‘g i ehfaek gig’ Wi 3T Fars |

Give the meaning of ‘natural growth of population’.

‘Tg e fhY *Ed 8 2

What is ‘ageing population’ ?

“aftags’ e <t it ST |

Define the term ‘transport’.

St 3R Figtelvg & gieRt T dTel Hgwqul AT=1eh ST bl H Saisy |

Name the important inland waterway that passes through Germany and
the Netherlands.

T | 31 T 8 SYATEA] bl TehNd v § ford TSI 1 Y81 T9H 8 2

Which state occupies the first place in the attraction of in-migrants from
other states in India ?

N § YeMEReh R &1 Teh IEW 1T |

Give an example of an administrative town from Meghalaya.

A § e A Sfl T18RdT 91 TS T 911 o9q1sT |

Name the state where female literacy is lowest in India.

HTS h! WISl < JgH W AT TI@ Y51 I 1 A9 FaTsy |
Name the major sea-port situated at the head of Gulf of Kuchchh.

TR o Ted efeolt STauidia gaTs U=+ i 919 SdTsT |

Name the southernmost international airport of India.

&t st w1 31 waTsT |

Give the meaning of ‘slum’.

‘HTe T TThc1ehTUl SRl M IETEL0N Hled T8 i | 3x1=3

Explain with three examples ‘the naturalization of humans’.
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12. A4 foe™ & ‘3 U’ <kl fepeal i forsiwanadt <hi samean i | 3x1=3

Explain any three characteristics of ‘Income Approach’ to human
development.

13. = fau 7o amfs 1 stemm e ot 3o fi= few u gwi & s i
1+1+1=3

(13.1) AW R fe@s 78 T8 1 gaE hifoe 3 3HeRT A fdfgu |
(13.2) NI ¢ % HY T& o R o UG qo sl 9 Famsy |
(13.3) 38 8L sl HE T9T HINT |
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Study the map given below and answer the questions that follow :

—— Ship Canal
XXX Railway Line
i = === Limit of Canal Zone

(13.1) Identify and name the canal shown on the map.

(13.2) Name the sea-port at the end of the canal along the Pacific
coast.

(13.3) Explain the importance of this canal.
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Fig:  [AEliiad 397 o gIEETad et & o, 397 G&37 13 F T W

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13 :

(13.1) 3TCATCH HEETR N T HEETR ohl e areil d8t sl A
AT |
(13.2) &Ih TsT R & foTT 38 T8X o Hgwd ol quid SHIRT | 1+2=3

(13.1) Name the canal that joins the Atlantic Ocean and the Pacific
Ocean.

(13.2)  Describe the significance of this canal to the United States of
America.

14. “YRd 9 SHEUSIT 1 AU TATHH Toaur @A 3R Hifdes siehl & o=
g TeY I Tohe AT 8 |7 38 HH i 3TN Afga gE FHife | 3

“The uneven spatial distribution of population in India indicates a close
relationship between population and physical factors.” Support the
statement with examples.

15. ‘omfio Ifesq axdl’ fhe ®Ed 8 ? YRd § 39 YhR i diEai o foehr o fohedl
3 TN sl T HIVY | 1+2=3

What is ‘clustered rural settlement’ ? Explain any two reasons for the
development of such settlements in India.

16. ‘Fad S &% 1 7 FaR | FanH Wl iR v seRoq |
3T % g l [og TIE HINT | 1+2=3

Give the meaning of ‘Net Sown Area’. Explain any two points of
difference between ‘Current fallow’ and ‘Cultivable waste’ land.

17. 9Rd 4 WHES EEET 1 G0 cd< AEOIh R g ? s dHF hRUl WY
Hif | 3x1=3

Why is there an urgent need to conserve the mineral resources in India ?
Explain any three reasons.
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18. YNd H Y@ 3@ €I 6l el i fo@m art om@ &1 7eaaq i 3ik
3T i feu U gl o I i 1+1+1=3

EL IR DE)

v 59T I
&) = v
Sy TAE-3TR
N s s TS AT

(18.1) 3H SEUTd HIF shl Tga shifold 3 IHehT 19 &Sy |
(18.2) 39 §A % foTu wfch <l IMMYfd i Tt A T 3@ T |

(18.3) 39 US¥ k1 A9 ddrs¥ foH I8 937 fod 3 |
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Study the diagram showing the location of a major steel plant in India and

answer the questions that follow :

To Bokaro
s

Steel Plant

ik
A
-l 7 Kiriburu

16Km.~ &
- g % Steel Plant
C; %’ @ Limestone

Hirakud Dam D;S f\‘( Iron-ore

L ol Rallway

\

Identify and name the steel plant.
Mention the source of power supply to this plant.

Name the state in which this plant is located.

(18.1)
(18.2)
(18.3)

Fig:  [Eliad 397 o gIRETaT et & g, 397 G&37 18 @ T W
The following questions are for the Visually Impaired Candidates

Note :
only, in lieu of Q. No. 18 :
WG | STHAT o T8I § Tfua foht U 3897 93 o1 919 SdTsy |

(18.1)

(18.2) 98 T WA & fohe Tog H fedra 8 2

(18.3) 39 & < foTu wfch <kl MY 1 A -1 7 ? 1+1+1=3
8
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(18.1) Name the steel plant which was established in collaboration
with Germany in India.

(18.2) In which state of India is this plant located ?
(18.3) What is the source of power supply to this plant ?

19. WA H 9y YGEU  fohdl QI Y@ Hdl 1 Ig@ HINY | 7 e | a1y
TG o I3 &l FNehReh TWE fARa | 1+2=3

Mention any two main sources of ‘Air Pollution’ in India. Write any two of
its harmful effects on human health.

20. TRUTEA Wou % WEHR &3 % fqew H @' gy fheal 9 Ao qedi
g HIR | 3x1=3

Explain any three social values which have been helpful in the
development of Bharmaur region of Himachal Pradesh.

21. UER ¥ yEfd 9WR o fOu gestt wdt te 3ue $N 1 feedl 9t faemwareti
1 saTET Iy | 5x1=5

Explain any five characteristics of ‘Market Gardening and Horticulture’
practised in the world.

22. ‘Fafercar we’ weg <t giaTT EIfST | TfeT & =R RN T IgTEEN Aled
Ty i | 1+4=5

Define the term ‘medical tourism’. Explain the four tourist attractions
with examples.

23. ‘OB HRH HR TAEEAT F1 AHR fhH THR TUEE AR 6 YR
T 7, 3R gfgd T8 I | SAS AR fhe JehR e ¢E % fore
AICS & ? 4+1=5
Explain with examples how ‘cultural factors’ and ‘size of population’

become the bases of international trade. How is international trade
mutually beneficial to nations ?

24, TR (ITTHT GHEH) Weq hi IHATST ST | foehrasiia <ot § e St
i foredl TR TE TSNS i T HI | 1+4=5

Define the term ‘conurbation’. Explain any four major problems of urban
settlements in developing countries.
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25. WRd H A:TIAT TAHT o THY IUFCAd foheal @ HEEAIST hl Awed
ST | 37 uitasd fauar & Tl < el =1 9uie i | 248=5

Explain any two problems faced by inland waterways in India. Describe
any three advantages of this mode of transport.

26. (26.1) ¥WER % fgu MU USHIfGS W@-AERE (I8 13 W) |, IR A9 A, B, C
3 D sifehd fopy o & | 37 @10 I UgEE A & TS AR
Hee § HIfu 3T 376 T&) T 37 e @it 7 T@nen w fafigu
4xL=2
2
Teh d1Y 9
IR-ATES T I & &R o1 ©yH
S0t i 1 Th HETIy &

FIHT § 9ol Bl <9

S awe»>

(26.2) WRA % feu MU qorHifas @-AERE (98 15 W) #, fefaRad i
feufa swes fogl gra fommse et 39 am fefem - 3x1=3
(i) GH AP TTEEAT & Tcd dTel T
(i) IT o Icared | ol T
(iil) TG H FAUER 91 qo

(26.1) In the given political outline map of the World (on page 13), four
features have been shown as A, B, C and D. Identify them with
the help of the information given below and write their correct
names on the lines drawn near them :

A.  An airport
A terminal station of Trans-Siberian Railway
An important area of dairy farming

oS aw

The smallest country in Africa

(26.2) On the given political outline map of India (on page 15), locate
and label the following with appropriate symbols :

(i)  The state having highest density of population
(i1)) The leading state in the production of coffee

(iii) The international airport in Gujarat
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Note :

64/2/1

et 97 SaeT givanad qhemaal & 77, 397 & 26 & T |

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

(26.1)

(26.2)
(26.3)
(26.4)

(26.5)

(26.1)

(26.2)
(26.3)
(26.4)

(26.5)

YT HETETR o &A1Y YR-AETE WHr & R & WRIA &1 9m

fafey |
ITHIhT 1 T BT ¢ HIA-4T1 & 2

T o T8 3fHeh JTHHEAT o Icd It ST hl 910 d13U |

WA 1 hH-G1 TST %! & Icqred | 3Ot 8 ?

ToId | e S=aiigia arg oae & AW TSy |

5x1=5

Name the terminal station of Trans-Siberian Railway line along

the Pacific Ocean.

Which is the smallest country of Africa ?

Name the state of India having highest density of population.
Which is the leading state of India in the production of coffee ?

Name the international airport located in Gujarat.
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For question no. 26.1

9 E. 26.1 & foU
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For question no. 26.2

I G. 26.2 & foU

WRA T WET-HHAT (T Tes)

Outline Map of India (Political)
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